< 50 GeV, R = 0.8, Transverse region

jet
1

p,for31 <p

E::, ?::: ?::: T

,
)
g . AIE :
[ 7] LRI @) -
C lmls NI =Y T ]
C N N hy N
- L L Bl T -
r (= (e 1T 1
C @ b O gl ————————
- ooodEf + .
C — w H s z I T R
r H oA d o 1 ]
Fog NN NSRS - =
- s 2 2 Bzl A+ =
AT T S
- Tt
C + -+ e O i
il e R v T
L o - P I [P (S
C JWIIIIIIIIIIHIIIIIIIIHI LI —
L _ R N |
C I . N
L 1 ]
C e e e ]
- “II —r —
e Gl
L ===+ _
R G l
et o= _ _ ]
.t#l.ll 1 ===l
===
e _
B 0|l + -
n i RERRTRNEN SR
o bbb b b b b bbb wlbnb il
o © 0 e ™~ o oA H HONODNOLD
s ,0 s s ,0 ,0 HHHH O 00 66
L L il il L Ll

Tdp/™Np “N/1

ered/ON

45

2.5

1.5

0.5

e}

pPL



